GUIDED NOTES (MODEL NOTES)
Examples
Solve each of the following equations for all radian values of 6.

Look Familiar?
Hint: Use your knowledge of factoring or other algebraic methods like the quadratic formula.

1) 2sin@cos =~/3-cos

2sin90039—\/§-c059=0
cos0(2sin9—x/§):0

cos@ =0 and 2sin6’—\/§:0

Try Identities?
Hint: When you see more than one type of trig expression, try using a Pythagorean identity.

2) secl=1-tan’ @
secézl—(secze—l)
secd=2—sec’ 0
sec’@+secf-2=0
(secd—1)(secd+2)=0

sec@d—1=0andsecfd+2=0
secf =1and secd =-2
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What if...?

Hint: If you squared both sides, could you then use a Pythagorean identity? Watch out for

extraneous solutions.
3) cscO+cotd=1

cscd=1-cotl
csc’@=1-2cot@+cot’ 4
l+cot’@=1-2cot@d+cot’ &
0=-2cotd

cotd=0

0=£i27r, 3—”i27r
2 2

Check :
csc (£j+c0t (zj =1?

2 2
1+0=1? Yes
csc (3—ﬂj+cot (3—7[} =1?

2 2
-1+0=1? No

49=£i27z
2
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